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Holiday Break PERFORMANCE TASK 1: Exponents
  1.)  Use the information below to answer parts a, b, c, and d for question 1.

One human hair is about 0.0001 inch in diameter
	Part A: Rewrite the diameter of the human hair in Scientific Notation
Show all work
	Part B: Rewrite the diameter of human hair as a fraction using a power of 10    

Show all work
	Part C: Rewrite the diameter of a human hair using a negative exponent
Show all work

	Answer:


	Answer:
	Answer:



d.) On the lines below, explain how you wrote the diameter of a human hair using a negative    

      exponent.
____________________________________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________________________________________
[image: image12.png]


____________________________________________________________________________________________________________________________________________________________________________________________________
2.) Use the information below to answer parts a, b and c for question 2

The dimensions of an area rug are shown in the diagram 
	Part A: Simplify the area of the rug in exponential form and state the law of exponents you used   Show all work.
	Part B: You are putting the rug in a room that is 10 ft by 12 ft.  

If a = 2, will the area rug fit in the room.  

Show all work.

	Answer:

Law of Exponents:
	Circle Answer:  YES    or    NO


d.) On the lines below explain how you know if the rug will fit in the room.
____________________________________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Holiday Break PERFORMANCE TASK 1: Exponents
3.) Use the information below to answer parts a, b, c and d for question 3

Hawaii’s total shore line is about [image: image2.png]


 miles long.  New Hampshire’s shore line is about [image: image4.png]


 miles long.
	Part A: About how many times longer is Hawaii’s shoreline than New Hampshire’s shoreline?  Leave your answer in exponential form. 

 Show all work.
	Part C:  Simplify the answer to Part A to standard form and state how many times greater Hawaii’s shoreline is.  

Show all work.

	Answer:


	Answer:

	Part B: On the lines below, explain how you got your answer to Part A.  Use vocabulary.
	Part D: On the lines below explain how you found the answer to Part C( the standard form of how many times greater Hawaii’s shore line is than New Hampshire.

	________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

________________________________________________
	________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_______________________________________________
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	Question 4
	Question 5
	Question 6
	Question  7
	Question 8

	Using exponents, what is the simplified form of the expression
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	Using exponents, what is the simplified form of the expression 65 • 62?
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	What is the simplified form of the expression (3x4)3?
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	How is the expression 5−3 written using a positive exponent?
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	How is the fraction  EQ \F(1,23)  written using a negative exponent?
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	Answer:


	Answer:
	Answer:
	Answer:
	Answer:
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